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= 1500 / 150 = 10 (kg/kg-H &)
Xl

= 125 x 52 = 6,500 (kcal/h)

F

o
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2. BHUZ ZUIF 1300 kg/hl| HZUTO0| 1500 kg/hY M, AHEHZEI} 150 kg/hO|11, H|FO| 0.8
gt &M AHZF (kcal/h)
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6. 2xUHT|o] H WHHEHO| 150 m?, 25+ SEY 50 kg/h o A, HX|sjof & 242U
SHAEH) (kcal/h)2 TSHAL. ( T BF2E @ 15°C, EY2E : 75 °C, H& 53} («) : 0.25,

)
CIEESIP) : 1.2, EXHXSIAIF(k) 1.1, BL7| BHZ: 450kcal /m*h, E2| H|H: 1 kcal/kg°C O|LCL)

o HHSY = (RO SR BE IR FY AR

= [{((450+150 )+( 50x60+1 ) )x1.25 }x1.2 ] + 1.1 = 20,028.41 (kcal/h)
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9. AE9| &£0|7} 50 m, H{Z|7tA9] HWFL2E7} 200°C, 2A7|2 =7} 25°C, EEMENO|M CH7|o| HIEZ
0] 1.29 kg/Nm? 7tA9| H|ZZ0| 1.34 kg/Nm? O|CL. O] AL O|EEEZHmMmH,0)2 T5IA 2.

B OIESEY = 273xUEF0Ix( 7IHISE/A7I2E - 7tAH[SY/7IA2E )
= 273x50%( 1.29/(25+273) - 1.34/(200+273) ) = 17.726 = 17.73 (mmH;0)
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